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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

＋ ３０ ＝ 

T13_S05 

５０ 

たして 

① ② ＋ ２０ ＝ ７０ 

たして 

たして 

③ ④ ＋ １０ ＝ ８０ 

⑤ ⑥ ＋ １０ ＝ １００ 

たして 

＋ ４１ ＝ ５０ 

＋ ３６ ＝ ６０ 

＋ ６４ ＝ ３０ 

たして 

たして 

たして 

数の図の ｕ は ● ， ｄ は × ，ｃ は ○ のことです。 
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問題    にあてはまる数を書きましょう。 
T13_S05 

⑦ 

⑨ 

⑪ 

⑬ 

⑮ 

＋ ２２ ＝ ６０ 

＋ １９ ＝ ８０ 

＋ ３６ ＝ ５０ 

＋ １０ ＝ １０１ 

＋ ３０ ＝ ６３ 

たして 

たして 

たして 

たして 

たして 

⑧ 

⑩ 

⑫ 

⑭ 

⑯ 

＋ ４０ ＝ ５０ 

＋ ５０ ＝ ３０ 

＋ ５０ ＝ ４０ 

＋ ４０ ＝ ４０ 

＋ １００ ＝ １０ 

たして 

たして 

たして 

たして 

たして 



3 

問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

＋ ３０ ５０ ＝ 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T13_S05 

＋ ５０ ＝ ３０ 

＋ ２０ ＝ １００ 

＋ ３０ ＝ ５０ 

＋ １００ ＝ １０ 

＋ ４０ ＝ ５０ 

＋ ３０ ＝ ６０ 

＋ ２０ ＝ ６０ 

＋ ４０ ＝ ４０ 

＋ ２４ ＝ ７０ 

＋ ６３ ＝ ２０ 

＋ ３０ ＝ ６５ 

＋ ４３ ＝ ４０ 

＋ ７０ ＝ １８ 

＋ ２５ ＝ ７０ 

＋ ４０ ＝ ５２ 

＋ ４０ ＝ ５１ 
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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

＋ ８３ ４ ＝ 

① ② 

③ ④ 

＋ ９１ ３ ＝ ＋ １１４ ４ ＝ 

＋ ７２ ７ ＝ ＋ ８２ ５ ＝ 

⑤ ⑥ ＋ １０５ １ ＝ ＋ １０６ ２ ＝ 

T13_S05 

たして たして 

たして たして 

たして たして 

たして 

数の図の ｕ は ● ， ｄ は × ，ｃ は ○ のことです。 
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問題    にあてはまる数を書きましょう。 

⑦ ⑧ 

⑨ 

＋ ８１ ８ ＝ ＋ １０６ ３ ＝ 

＋ ９２ ５ ＝ 

⑪ ⑫ ＋ １０５ ４ ＝ ＋ ９３ ６ ＝ 

⑬ ⑭ ＋ １１４ １ ＝ ＋ １０７ ２ ＝ 

⑮ ⑯ ＋ ９１ ８ ＝ ＋ ８４ ３ ＝ 

T13_S05 

たして 

たして 

たして 

たして 

たして 

たして 

たして 

たして 

たして 

⑩ ＋ ８２ ７ ＝ 

たして 
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問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

＋ ８８ １ ＝ 

① ② ＋ ８６ １ ＝ ＋ ８２ ５ ＝ 

③ ④ ＋ ９５ ３ ＝ ＋ １１５ ４ ＝ 

⑤ ⑥ ＋ １０１ ７ ＝ ＋ ９６ ２ ＝ 

⑦ ⑧ ＋ １１４ ４ ＝ ＋ １０７ １ ＝ 

⑨ ⑩ ＋ ９３ ２ ＝ ＋ ８６ ２ ＝ 

⑪ ⑫ ＋ ８４ ２ ＝ ＋ １０６ ３ ＝ 

⑬ ⑭ ＋ １１８ １ ＝ ＋ ８１ ６ ＝ 

⑮ ⑯ ＋ １０１ ７ ＝ ＋ ９４ ３ ＝ 

T13_S05 
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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

－ ９０ ３０ ＝ 

① ② 

③ ④ 

⑤ ⑥ 

T13_S05 

－ ９０ ＝ ４０ 

－ １２０ ＝ ２０ 

－ １１０ ＝ １０ 

ひいて 

ひいて 

ひいて 

ひいて 

－ １１３ ＝ １０ 

－ ９１ ＝ ８０ 

－ ８５ ＝ １０ 

ひいて 

ひいて 

ひいて 

数の図の ｕ は ● ， ｄ は × ，ｃ は ○ のことです。 



ひいて 
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問題    にあてはまる数を書きましょう。 

⑦ 

⑨ 

⑪ 

⑬ 

⑮ 

T13_S05 

－ ９０ ＝ ６０ 

－ ８０ ＝ ７０ 

－ １２０ ＝ １０ 

－ ９０ ＝ ５０ 

－ ８０ ＝ ５０ 

ひいて 

ひいて 

ひいて 

ひいて 

⑧ － ８８ ＝ ２０ 

⑩ － ９６ ＝ ２０ 

⑫ － ８３ ＝ ３０ 

⑭ － ８７ ＝ ４０ 

⑯ － ９４ ＝ ２０ 

⑧ 

⑩ 

⑫ 

⑯ 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 
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問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T13_S05 

－ ９０ ８０ ＝ 

－ １１０ ＝ １０ 

－ ８０ ＝ １０ 

－ ９０ ＝ １０ 

－ ９０ ＝ ３０ 

－ ８０ ＝ ４０ 

－ １２０ ＝ １０ 

－ １２０ ＝ ２０ 

－ ７０ ＝ ５０ 

－ ９２ ＝ ３０ 

－ ８８ ＝ ４０ 

－ ８３ ＝ ２０ 

－ ８４ ＝ ２０ 

－ ９６ ＝ ４０ 

－ ８９ ＝ ２０ 

－ １１６ ＝ １０ 

－ １１７ ＝ １０ 
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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

－ ８７ ４ ＝ 

T13_S05 

① ② 

③ ④ 

－ ９５ ３ ＝ － １１９ ６ ＝ 

⑤ ⑥ 

－ ８３ ２ ＝ － ９６ ４ ＝ 

－ １０６ ５ ＝ － １０１ １ ＝ 

ひいて ひいて 

ひいて ひいて 

ひいて ひいて 

ひいて 

数の図の ｕ は ● ， ｄ は × ，ｃ は ○ のことです。 
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問題    にあてはまる数を書きましょう。 
T13_S05 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

－ ９２ １ ＝ － ８３ ３ ＝ 

－ ８９ ８ ＝ － １０６ ４ ＝ 

－ １０５ ３ ＝ － １１７ ２ ＝ 

－ ９６ ５ ＝ － １０８ ７ ＝ 

－ １１３ ２ ＝ － ９４ ４ ＝ 
ひいて 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 

ひいて 
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問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

－ ８９ ３ ＝ 

T13_S05 

① ② － ８６ ２ ＝ － ９７ １ ＝ 

③ ④ － １０３ ３ ＝ － １０８ ６ ＝ 

⑤ ⑥ － ８５ １ ＝ － ９９ ３ ＝ 

⑦ ⑧ － ９５ ４ ＝ － １０２ ２ ＝ 

⑨ ⑩ － １１８ ７ ＝ － １１４ ３ ＝ 

⑪ ⑫ － ８６ ５ ＝ － ９４ ２ ＝ 

⑬ ⑭ － １０１ １ ＝ － ９７ ７ ＝ 

⑮ ⑯ － ９８ １ ＝ － １１３ １ ＝ 


